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SECTION—I
Language-I—Bengali
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simultancously fostering a whole host of

skills, such as entical thinking and literacy 5

skill-set that take with them ino formal &

research tells us that any skill and o !
leamer’s home language don’t need to be T.lu,g]u

fl]l.':! transfer to a second ]angu_-.g,cl Lilﬂﬂuiﬂ.ﬂ and m 1.
tongue also play a huge role in the developmentof personal,
\:1‘-\.'I-il| and culwral identity, Children with a Birong

foundation in their firsi language often display a deeper

understanding of themselves and their place within Sﬁﬂiﬂl'-
plong with anincreased sense of well-being and confidence.

MNaturally, this flows down into every aspect of their lives,

including their academic achievement. In all education the

primary place should be given to training in the exact and
free use of mother tongue. Mother tongue is the true vehicle

of mother wit. Another medium of speech may bring with it
a cumrent of new ideas, But the mother tongue is one with

the air in which a man is bom. It is through the vemacular o pg 378 38)

that new conceptions of the mind should press their way fo ¥ AR

birth in speech. A man's native speech is almost like his + 1O

shadow, inscparable from his personality, In our way of (A) continuous
speech, we must , as the old saying runs, dnnk waaker out of (C) decent
our own cistern, for each one of us is a member of o
community. 1t is through our vernacular, through our folk 38, malice
speech that most of us artain the characteristic expression

(A} intention (B} benevolence
ol our naure (€] spite (D) monse
31. A man's Indigenous speech is almost like his
A) soul ' (B) shadow Mark correctly the plural forms of the following words:
il (Q. no. 39-41)
(C) pillow (D) sttire
3%, corpus
{A) corpusses (B) corpora
32. Through the vernacular, most human beings (C) corpos (D) corpon
.luunuhiluh- appendix
A (A) sppendizes (B) appendices
nled expression
7. (C) appendiexes (D) appendieces
slIC expression cactus
(A) cactuss (B) cacti
(C) cactu (D) cactis
33, According to the old saving, we should drink water X 1
out of our own Mark correctly the change in gender of the following
AY : BY Lhvem words: (. no. 42-44)
(C) cistern D) bos 42, protector ’
(A} prodect (B) protectoress i
| ) proteciress (D) protectum

M. In education, training in the lree use of mother

43, pander
longue should be given

(A} poose (B} heifer
A N f yla B Primary plitce (D duche:
CANGEY [l - (C) | oAl dress cuchess
) nlermediary  Passt "

: (Contd.)
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Language-1l—English
Mark co the appropriate form of verbs that fit
(A) doe (®) sow st e
) (C) filly D) ewe 51, If1 a bird, I would fly.
Mark correctly the synonyms of the following words: A} am (B) was
(] M.H:ﬁ.ﬂﬁfl (C) were (D} have been
45, consclentious
(A) 200 i (BY rebellicus 52. He found the book he
{C) mischievons (D) ridicelous N ke ot Gl et
. (Cy had lost (D) would have lost
(A) simplicity (B) boast 53. Hardly had the girl ____ writing, when the
{C) abstract (D) detest teacher collected her answer script.

Read the following passage to answer Q. nos, 47 to 50:
h The man who perpetually hesitates which of the two
. ;l:lltﬂf;;:;-'; ‘:[|J1f:o r irst, will do neither. The man who resolves
s chanses i esoionhe it ouner-suegssion o
e g .-..md il ll_l:!u from opinion to opinion, f_rum |_1]|m
. : % like a weathercock to every point of the
FOMPASS, with every breath of caprice that blows, can never
= Eﬁf::l':d}:%ll?:silﬂc;t or 1.I!\|.‘.!-IIJL Whimsicality and
i : cks on which the edifice of failure
i_'..-" _Sl.ru::tr.'dl. f\_'ulhir:g waorthy, nothing fruitful is born out
am ﬂltllhlltISIJktiIHi]l'j'J'IJ'-'ltl'll.lur.lJm.Ji:r.dri!l'tlngnilulcn.th'
e high ocean oflife. Itis only the man who first consults
ely. then resolves firmly and then executes his purpose
inflexible perseverance, undismayed by those pelty
. I’.‘iﬂi 'Ui'hlll.h dﬂuht 2 weaker Spar 1t, that can ady ance |1-'.
punence in any field. The course iz to be taken wisely
frmly. Once taken, it has to be pursued with heoric
:':u With indomitable spirit and unguestionable
Stion (o the purpose, one can conguer the universe.
course is to be taken with
Ay wisdom and hesitation
i care and thoughtless action
( braw:ry:md whimsicality.
.::.:II ﬁm]ﬂf-s-s H.ﬂd wisdom.

 the passage, an indecisive man is compared to a

' clock. (B) magnet.
PmﬂpaﬁS (D) weathercock.

firr spiritandpmperdedimli:m.lhe universe

(B} lost
(D) hired

n advance to prominence in any field if one

s only.

¥ resolves wisely.

plans to execute the purpose prope
olves, consults and execules properly.

rly.

SECTION—II

{A) had finished
(C) finished

(B} have finished
(D) fnishes

Mark the correct spelling from the options given below:
{0). no. 54-56)

&4, (A) assimilate

(C) assimillate

(B} asimillate

(D) asimilate

85, (A) apalling (B) appalinng

(C) appalling (D) appaling

56, (A) rejuvinate (B} rejuvenate

{(C} mjuvinate (D} rejuvenste

Mark correctly the part of the sentences which has an
error. If the sentences are correct mark *ID' (No error):
(0. no, 57 & 58)
57. Samir hasto trudge over the
[A) (B}
sieep mouniain path, No errorn,
(C) B}

58, Treasure Island is one of the best pirate stories

LA) (B3
that ever writlen. No error,
|‘.‘l || | 'J"I i

Mark correctly the appropriate prepositions that fitin
the blanks: (Q. no. 59 & 60)
59, An application was written to the officer in
PUrsuAnce _ the instructions given.

(A) by

(C) for

(B) upon

'.RII -.'I1.

60, The distance of the school _ the railwa)
station is two Kilometres.

A) over (B} from
LA Wl

C 0 (DY to
) o

.['L|r11{|.|
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SECTION—III
Child Development & Pedagogy

English Version

61. Learning Assessment is purposeful if
CA) itserves as a fecdback for the students as well ns

the teachers
(B) it is done only once at the end of the year.

(C) comparative evaluotions are made to differentinte
the student’s achievements

(D) it induces fear and stress amu mng the students
62. Which one of the following skills should be stressed
more for mentally under-developed children?

(A} Life skills (B) Adapution skills
(Cy Communication skills(D) Numerical skills

63. A teacher nlways helps the students so that they can
relate the knowledge acguired In one subject with
another subject, It helps in
(A} individual differénce
(B) leamner's independence

iy distribution of reinforcer
(D) correlate and transfer of knowledge

64. In teaching process student’s performance u‘
(A) dependent variable (B) independent yariable
(C) intervening variable (D) control variable

65. A collection of a student’s work in an area showing
growth, self reflection and achlevement Is known a4
{A) assessment (B) judgement

(C) ponfolio (D) cumulutive record
: 66, Educational Characteristics: Measuring devices:

{#) achievement (1 Examination

(b} learning (II) Assessment
fg) Interest (I} Interview
The matching pair ls—

(A} (a) () (B) (by(II)

(Cy (e}l () (el

67. Inclusion of children with special needs
(A) is detrimental to children without disabilities
(B) will increase the burden on schools,
(C) roquires a change in attitude, content and approach
10 leaching.
(D} is an unrealistic goal,

68, With reference to the gifted learners, ‘acceleration’

means

(A) accelerating the process of their assessment

(B) accelernting the transaction of their scholastic
BCLIvilics

C) promoting them to the next higher grade earlier
than normal learmers
ipeeding up their co-scholastic activities.

24-YJE (Con

Benpali Version
61, T woEErel wirR s w0 e
Ay &ff Bl o e Preene’ TeATA 9T S
(B) «ff e oo et WA T 6
(C) «ff e sy W e ELIEd 1
sl |

(D) &t wrekse wog 53 o W 4B wE

62, Farere oot o TR feene e
o OWEA Y A
(A) B WY By Efeme wr.-«l.]:
(Cy cupsmons wwetng. (D) whuAE  WEETHHT

63, weuw T e @ sl e B4R = T o8l

. ﬁm@mmmﬁamm-rw =TT

wirea | «fh e W
(A) iy wdE
(B) Frmd gl
i) =i Thtemay AR
(D) Eeaw S0 WY AR

64. Frmmwr efwy frmlifn o 0570

(A) Brézfim o (B) w5
(C) THrE W (D) foufire o

65, Fredin =wn @ e e gaf fpem g
farmlim s, wre-affim om fey v wm e 7
T

(A) ST (B) FEmraens

(C) cofimfve (D) *Egte «fw
66, Tirwrore Tafarl sfEsmem S 1

(w) *mwiE! (1) i

(b) s (11) =TS

(c) =naE (M) Freears

T ut @

(A) (a) (TII) (BY (B (1)

(C) (e)dl) (DY (b (1)

67. fapem wifwmeen fear wysfosa
(A) Fras Prarm +ms wfeams
(B) ﬁ‘ﬂm AT "'.'T".:;-'R: A
(C) wraremm, fmray wa fmstwirsg sl o aws @
(D) o=l wara wm

s, mﬁ‘ﬁ% ST *acceleration’-43 ¢
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(B) SN APAGEETY s (o EaTee
(C) wrefas fom i (urs wrs Tve
=
(D) ST Reesaefme wnfias) wais 4



SECTION—III
Child Development & Pedagogy

English Version

69. Four MCQ questions 1, 11, IIl1 & IV are correctly
answered by 05%, 209, 50% and 85% of students
respectively. Other things remaining same the best

question is
Ay 1 By 1
(C) M (D v

T0. Sufficient number of questions are set on the same
concept in a test. The test is
(A} achievement type (B) diagnostic type
{C) prognostic type (D} eritenon referenced type

71. Stages of developments are imporiant for a teacher to
(i) produce a comfortable environment for teaching

and learning process
(i} know and understand the problems faced by a child
(iii} establish an effective communication with the child
Which set (A, B, C, D) of the above statements is
suitable for effective teaching?
(A} only (i) (B) only (i)
{(C) Both (i) and (iii) (D) (i}, (i) and {ix)

72 Though calculator gives the result of multiplication
easily, we teach children to calcolate manually to:
(A) maintain tradition of teaching
(B) verify the result of muoltiplication
(C) develop creativity
(D) develop thinking & reasoning

w1 The stages of 5E as per SE teaching-learning moded are
i) Evaluation (i) Exploration

- Elaboration {iv) Explanation

| Engagement

The correct sequence of the stages is

MA) (1), (1), (idi), (1v), (¥) (B) (i), (in), (i), (1w), (v)
B0 (). (i), (iv), (i), () (D) (v), (iv), (ii), (iid), (i}

he cephalocaudal principle of development
eplains how development proceeds from

i differentiated to integrated functions

 head to toe

prural to urban areas

BReneral to specific functions

jological construct(B) innate quality
construct (D) biological entity

25

Bengali Version
69. 1, IL, 111 <= IV &% 5% MCQ) warea 2ve 7o So0w
e TR T TR 05, 20, 50 4% 85| T

(A) 1 (B) I
(C) I D IV

0. qaf wiem 22 vy wre o wws | wEie W

(A) weleETa T (B) e wer

(C) wermprs wehe (D) TR s D

71. feme waefh avem frer =e, 0w
(i) e o Frar e o WIS (T T
(i) w= Fra o¥ 7Y FOUA AUNA W T WA 6 (FHE T
(idi) e s anfal cnsmoE EeE R B
gofEts romoiFE 3G o= o (AL B, G, D) Fd
Gpmwrrsg T Bewmi
(A) SeeaTE i)
(Cy (i) (iii) 5208 Dy (i,

(B) =95 (i)

72, o v FEOEE WS TAEw = T, Bge i
TrE-SwTa 0d it
(A T & e T
(B) 5058 TS T,
(C) etz Tawm=

e w Hieg T
(D) " s gres 0

73, SE arered SE Fee-ferem gaaf wi
(1) =EpE= (Evaluation) (i) =rmd (Exploration)
(iiiy ==Y (Elaboration)
iv) Ff® (Engagement)
waafi == 7=
CAY (1), (o), i), Gvd, (v (B (), G, (an), (v, (%)

(iv) =0 (Explanation)

(Cy (), Ga), (v, G, (1) DY wd, (i), (i), (and 1)

74, fewram cephalocandal 7 TR @ e

(£

(A) FTEE cyrs NS TEEEE T

(B) M1 (oT AR W Fe

(L) O+

TS T e

o (9T s TiEnE W

75, fFmrsw et
(A} "aaaas &9 B y
C) A e D) SreiEs wiay/7e
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SECTION—III
Child Development & Pedagogy

English Version
76. In the context of education, socialization means
(A) adapting and adjusting to social environment,
(B) always following social norms.
(C) creating one’s own social norms.

| (D) respecting elders in society.

77. Teaching of Geography and History of Murshidabad
may be meaningful, quick and interesting if
conducted logether by an approach of

(B) correlation

(C) induction (D) story telling

78. A child knows 4+2=6 but not 4=6-2. The child may
be in the stage
(A) Sensonmotor
(C) Concrete operation

(A) play way

(B) Preoperation
(D) Formal operation

79. By the word “individual” Woodworth has referred to
(A) human body
(B) human mind
(C) human behaviour
(D) both mental process and physical behaviour

§0. Which of these does not imply practical intelligence
in the Triarchic theory?
{A) Re-shaping the environment
(B} Thinking practically about oneself only
{C) Choosing an environment in which you can succeed
(I} Adapting to the environment

1. “Right to Education Act 2009 has its main objective

to ensure each child in India 6 to 14 years receives
quality education. The term quality education means
(A) Use of costly TLM

{B) Rote learning

{C) Establishment of relation between classroom and

real environment
(D) Imposed discipline

82. Questionnaire refers to
(A) adevice for securing answers to questions by using a {
form which the respondent fills in himself,
(B) adevice for collecting questions from many individuals,
(C) a device for collecting response from class-work,
(D) a device for developing various questions. (
83. According to social constructivist theory of Ley
Vygotsky, which of the following methods is
appropriate for assessing students?
(A) Standardised tests
(B) Fact-based recall questions
(C) Objective multiple-choice type questions
(D) Collaborative projects

|
{
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Bengali Version
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L TE T ¥ LA™ [-4(-5T (e '::;;{ FIamm ma BT

ol w1 v o fiflw o ogw

L

mwﬁwmqmﬁ frrare o=
R wawlom wnmR e Sernd

(A) amfifire =t

(B) =Tfefer worwze emrady

(C) tffes e sourei

(D) Tarifrenpre wey



English Version

\Cockroach is not bird'. Starting a lesson on bird
th such negative example was discouraged by
(A) Bruner (R) Piaget

 (C) Skinner (D) Binet

5. Which one of the following characteristics is not
rélated to organization of co-curricular activities in
school?

Educationally relevant  (B) Constructive
Democratic atmosphere (D) Non co-operation

' 86. Some statements about children:

(1) Children are passive reciplents of knowledge

{ii) Children are problem solvers

{1y Children are interested In sclentific investigation
{iv) Children are active explorers of the environment
Which set of the above statements is correct?
LAY (i), Gid) and (iv) (B (i), (i), (i) and (1v)
(Cy (i), (i) and (iii) (D) (i), (ii) and (iv)

87. According to Chomsky, an innate capacity to acquire
language is the result of our uniquely human
biological inheritance, which is called

(A) Language Adaptation Degree

{(B) Language Acquisition Device

(C) Language Acceptance Desire

(D) Language Acquire Domain

Which one of the following is best soited for
. emotional development of children?

{A) Democratic classroom envirenment

{B) No involvement of the teachers as it is the task of
the parenis

{C’; Controlled classroom environment

-.rl Aupthoritarian classroom environment

In the case of learning Law of Readiness corresponds Lo
schema (B) motivation

L) stimulus (D) response

Student modifies an essay in the book and then
Morizes it. This is a process of—
sAdoption (B) Organization

imilation (D) { ccommodation

27-YJE
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84, Wﬂrﬁw‘n’tmﬂnﬁiﬁﬂammww
mmiﬂ%ﬁmﬁmﬁmmﬁ

(A) TTE (B) formcet
() femm (D) fam

H.mﬂmwammﬁwﬁﬁzﬂmﬁ

TETHTEE ? .
(B) MEHLS
(D) ST e

86, PrmE s Tl B s
(i) Frem wm e arve

(iff) rea Rrarras s wed

(iv) Frow wfTaras #fiem wepraEw
frariimn oo Sfpofem wog cam oBf e
(A) (i), (iii) 99 (iv) (BY (1), (ii), (ii) €22 (iv)
(O (i), (it) &= (i) (DY (i), (i) S (1v)

#7. waER WrE sriREE oRea Tied a2l v wwe =
o e SreTes TvnfEE wERslE, at A
(4) TGS wyEeeE B
(B) wyricwe SR e
(C) = wrRrR G fema

(D) FrEES ST (SAEA

88, e oo feafh o wmenss Fmem v wrsm
BITH AL

(A} o seriEe o

(B) iz «f Fore-arerg o o Feacea e g o o

(C) Faf efierss s

(D) ceferers Tazista) wfamem

80, Frre owry ergiEs Xalte Ay e o=
(A) =l (BY r=met

(C) THiv (D) #fafEm

00, awmw FEdl T8-07 TS Ty v ¥R g =
% efemfh wa—

(A) =IFE¥=w Ry =si=iErmseg
(Adopton) (Oreamzalion

(C) =ffTare D) STEIEH
(Assimilation) ( Accommuodation)

(Contd.)
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91. Simplify:
T ¥ 1
i

(Ll 2,2 L1 8,5} (1.0 1 231 &
579730710 _9"9 10 10| 19710 9% 10|29 10
(190 1.11+nay|1_9 s (127
L9910 1 99 10 10) L9 10 9710/ 10 9
21 D) 2
81 1 (1) =
'. (A) O ®) 156 (€)
= e i e
92. In & triangle ABC, AB=AC=20 cm. ZBAC = 30°. 92, Ancmhﬂsﬁﬂslﬂﬁﬁlifl.ic-m | T
What will be the area of the triangle? CFETT FS? e
(A) 200 54, cm. (B) 1505q. cm. (A) 200 3G (B) 15"3#{2.-.
(C) 100 sq. cm. (D) 50 . em. (C) 100 @i fR (D) 50 el

63, (1-1ps 1D 11+ I-EInfl-l}:-t{l*l}ril*JHl-&}{l-JHxll'L]k{l'llxt1'3]=

(A) ![]-S}K{I-I+|-2+I-3b![1l-|-|-?.1:'+|']-?.—1-3-‘.1:+{|-3-|-l"}1] (B) lz:-&{|-|+]-1+]-3]-:-:{{I-!+1*21:+l|-2+l-3]:+{]-.7|+I-i:

(C) (0-5)%(11+1:2=13)[ (1-1-1-27+(1-2-1-37+(1-3- 117} (D) l,m[I-I~—1-2+1-3}xi{H—I-E]:+{l-2—1-3jz+{1-3- 1-1F)

94. OF the three different numbers, the product of two
numbers taken at a time in order are 42, 84 and 71
respectively. What is the L.C.M, of the numbers?

(A) B4 (B) 724
(C) 420 (D) 504
1+ 1 (0.0 (0.11)
95, A 0] « L 3 :
[/ 3 3 2x(0.1)+0.11+1

ol + - ~
011 0.1 (1)=(0.11)
0.l

= e
(B) 557066+3

; 0.1
(A) 55+033+3

96. 2 men and 3 boys can do :i of a plece of work in

6 days; 3 men and 5 boys can do ;—3 of it in 4 days.
In what time can a boy do the whole work?

(A) 12 days

(B) 24 days

(C) 36 days

(D) 48 days

97. Simplify:

b d) (o) Gl

9 11

(A) 0 (B) 6

1113 13

04, Fral fom wvw Ty qf6 == Ao o9 =R o
wutmTa 42, 84 @ 72 70| Ay femfbe woA e vy
(A) B4 (B) 724
(C) 420 (D) 504

i I i 0.11
(©) §6+033+3 D) §37066+3

96, 2 o« s TE © 3 oW Ao o @3 weE

3wt 6 firs v w09; 3 W opefas fe @ 5w

4
TFE 6% FWEA 11% w4 e ey o0E; 4FFE TEE

E WALH % WE HoE S ¢
(A) 12
(B) 24 W=
(C) 36
(D) 48 fr=

=

(C) 4 (DY 2

(Contd.)
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98. There are two sections inaclass ol a co-educational
school. The no. of students in each section i35, 107
girl students of section A goto section B, the number
of girl students in these two sections are

interchanged. 1f 4 girl students of section B go to
section A, the number of girl students of section A
changes to double of the actual number of girl
students of section B. The number of boys of section
A and B are respectively
(A) 18,11 (B) 24,17
(cy 17,24 Dy 18,27
99. AB and CD are 1wo chords intersecting at X of &
circle with centre O. Then
(Ay AX . XB=CX . XD
(B) AX.XD=CX.XB
({Cy AB.CD= AX . XD
(D) Cx . XB=AB.CD

100. Answering all questions *A’ gets 32, For a correct
answer he has been awarded 5 marks and his marks
has been deducted by 3 pumber for each wrong
answer. Again if he has been awarded 4 marks per
correct answer and be deducted 1 mark per wrong
answer, he gets 28. How many questions are there

in the examination?
y [A) 14 (B) 10
() 16 (D) 12
101, Simplify:
e WA

Bengali Version

o5, qaft s R o= o A st A @

100,

B-efefre arred 7 351 o A FemsR 7 o writ,
Bﬁﬂtﬂmmiaﬂﬁqu@. Few]] W TR
o | wr o B e som it A Feis =0, TS
A Freer e B e T g fiod @l
FurHTa A ¢ B e wizAdT T

(A) 18,11 (B) 24,17

() 17,24 () 18,27

O 8 e AB @ cp oy A% X e o FTIATE |
wrern S

(A) AX .XB=CX XD

(B) AX.XD=CX.XB

(C) AB.CD=AX XD

(D) CX.XB=AB.CD
‘A‘MWWWWﬁHBEilﬁimﬁ
aﬁﬁﬁﬁmaﬂimcmlmmwﬁfﬂwtm
wzmmmmm~nﬁaﬁﬁﬁw¢mvw4
mmmmmaﬁﬁqﬂmw1mmﬁem
o, B AT ot oA T 28 | STATEH Al eirea Avm
=¥

{A) 14 (By 10

(C) L& (D) 12

£,25(5.25x 525 -3.17 x 1.58) + 3.17(3.17 % 3.17 - 1.58x 5.25) + 1,58(1.58 x1.58 - 5.25 x 3.17)
5.25(5.25 - 3.17)+ 3.17(3.17 - 1.58) + 1.58(1.58 — 5.25)

A) 1 (B) 0

1213 and 1231 are two numbers,

{A) First number is prime and the second is composite,
(B) First number is composite and the second is prime.
(C) Both the numbers are composile.

102,

(L)) Both the numbers are prime.
103. ABC is a triangle. AP is perpendicular to BC, BQ is
perpendicular to CA, CR is perpendicular to AB.
AP, BO and CR cuts at 0. ZBAC =40°, then £BOC

102,

103,

=]
(A) 80 (BY 140F
(C) 110° (D) 40°
104. Simplify:
FHE P 2
3*3 3. 2.2.2.3.3.3% 3.3 3Y 3 :
(4 "14 33 ‘—5,\"‘_15 j:u-cllr_*,-';] I:li.i-;_lii- xill
________ = S N | e —— * - S
(3,2,3) R R  E)
d 3 K 14"4'33‘3‘ x;.
1647 163
A = 3003
98420 (B) 35470
29-Y JE

(Cy 10 (D) 9

1213 @t 1231 ¥fo Fes|

(A3 Fewn ofe 2wsh A iy wE s
(B) Al 4ioa soraf e way sirae®
(C) H=H A Tt |

(D) A= -:'I";:." rE

i
| N ol

ABC frgrem AP, BC @ Bom 79| BQ, CA-93 TR
BQ ¢ CR =@ O

s | CR, AB-4® T ¥¥1| AP,

fomre oW =0T ZBAC = 40° T= JBOC =%
(A) 80

(B) 140
(C) 110° (D) 40
. 1647 q
(C) '-E':E": D 1633
l_ll}-l _-l.:l ] 4

e 1 ‘m"l.'l

(Con




105, 100000+ 10000+1000+100+1041 +~ . L . L 1 . _°
10 " 700 1000 10000 100000
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1

(A) 11111111111 (B) 11111111111

106. (41} L ifa. 3\
9] 4'19 'htdﬁ] ﬂ(ﬁi—g)dxlq%]u(ﬁ%

(A) LxiD000+3c 10004321 00+1
(Cy 1000+ I =1004+321 041
107, 101001.01011=
(A) 100000410000 +14 bt b 4 ol
100000~ 10000 100

. i
©) THoo00 " méuu‘ﬁ””m"m
108. A sweeper is appointed in a condition that he will
recelve wages of Rs. 50 per day for his work, but If
he will absent, he will not recelve any Wages and
will be fined Rs. 10 for that day. After 30 days he

has received Rs. 1140. How many days was he
absent?

(A) 9days (B) 5days

(C) 4 days (D) Gdays

109. The distance between % and Y is 270 km. At 9 am
A" gtarts from X tow ards Y and ‘B’ starts from ¥
towards X. The speed of A and B are 50 km in an
hour and 40 km in an hour respectively. When shall
they meet each other?

(A) 11 am. (B) 12 noon

(C) 1 pm. () 2pm
110. Simplify:

AT T L

0,088 x 0088 ~ Sxﬂﬂ_ﬂ ]
30088 - 4 TR

0,088 « 0.088 - 25

(A) 0099 (B) 0.088
(0.1 ] _I:I:J i 4 fgl-:!-'}'! -.I""ﬂ-l!*'luﬂ.ll"inl]
(31 1) (5-02) (7%
111, A8 AT
: “1 -
37 (37
(31-01] ['1'5'“] (393
(A) 0.1 {B) 0.2
112, ‘A’can do a piece of work in 20 days, ‘B’ can doitin

24 days and ‘C’ can do the same in 30 days. They
agree to do the work in Rs. 5,400 and they start the
work together But ‘B’ leaves the work before 2 days
of the completion of the work and *C’ leaves the wnrk.
before 5 days of the completion of the work. *A
completes the remaining work. What amount has

‘A’ get for the work?

(A) Rs. 2,700
(C) Rs. 1,600

(B) Rs.5400
(D) Rs, 3,600

Bengali Version
1

(Cy 11110101111 (D) 10111101101

(s3] <e5)-

(B) 13 10000+ 100+ T 1041
(D) 15100043 104+3% 10041

1 BT =)
(B) 100000 +1000 + 1+ 155576+ 7506 ~ 100

1 i i
(DY lm+lm+m——u+l*iﬂm‘mﬂﬂm

mmﬂmﬁwmcﬂ,mﬁﬂmw
=, o T TR 50 Tt = o Ty o0 R O
Wmnh:ﬂm@mmmmm
mmﬁnmlanﬁﬂ-mmluch:mmwﬁn

108.

waeifips fEme
(A) 9= (B) 5@
() 4 Dy 6=
109. X & Y~ v 270 Ffe | s ST A, X TF Y-t

G et B, Y v X-oq e oY O = ufé A g
B-am W e witirg 50 TR am vl 40 fofa
T, oA e TR FIFLERR Y

(A) T 110 By R 1 2%

(Cy %o 1% D) AR W

0,088 x0.088~16x0.099x0.099  3x0.088x0.088 + 40092205

0.099 = 0088 + 5 0.099

(C) 099 (D) .88

() 03

112, ‘A", 'B'e'C ourd oull w9 TUTIFTH 20 i, 24 T @
30 firs oo TS AR | T =T 5,400 S =
T T S T SEECR WU ws ww | T 0 7

gy 2 i mns *B' o ol o geyr 5 e B

§O W RS BOE O = e A T T T
gl Fara O ‘AT T O A
(A) 2.71}13?’-‘.‘-‘ (B} & 400 b
(Cy 1,600 i My 3,600 T
((Contd.)
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113. A person starts from A at 6 am. towards B and
reaches at B on 10 am. Another person starts from
B at § am. towards A and reaches at A on 11-30 am.
When shall they meet each other?
(A) T7-45 am, (B) B:26 am,
(C) 8:56 am, (D) 840 am,

114. ‘A’ can do a piece of work in 12 days and ‘B’ can do
it in 18 days. They started the work together but ‘A’
left 3 days before the completion of work. ‘B’ finishes

the remaining work. The total number of days to

* marked numbers respectively will be
(A) 1,35 (B) 4,2, 8
(C) 0,52 (D) 1,7.6

(A) Here all the numbers are prime,

(B} Here all the numbers are prime except one.
{(C) Here all the numbers are prime except two,
(D) Here all the numbers are prime except three,

118. The perimeters of a reciangle and a square are
B0 em each. The difference of areas of square and

rectangle is 100 sq. cm. The sides of the rectangle
are

(A) 35¢cm,. 5cm (BY 32cm, Bcm
(C) 30 em, 10 em (D) 28cm, 12¢em
119. Simplify:
AW A L

I
(A) 105 (B) O
120, (7-001=1)(7-001+3)(7-001-2)(7-001-6)+96=
(A) (7-000=3)T7-001+2){(7-001P+3x7-001+6)
(C) (7-001+5)(7-001+2){(7-001)*-3x7-001-6)

31-YIE

113, 4we o T 601N, A ¥ (T B YT S

-
28

complete the work is

(A) 8 (B) 9

) 6 (D) 3

115. Find the sum of the following expressions:

Broow FVTRIVICH COeTe W ¢
2.2 3. 3,88 s:;_;*g_g;*,x
[E’i‘i“i*i“i‘“ Elor RN Tk Ttttk

611 27

(A) Goo (B) 0

116. The numbers T*82, 83*9, 147 are divisible hy 9.

117. 2,3,5,7, 11, 13,17, 19, 23,29, 31, 37, 41, 43, 47, 53,
59,61, 67, 71, 73, 79, B3, 87, 89, 97 are 26 numbers,

0P 0 OO0 T O R
,.{5”5*5“? -r"?J__{-f 7743 3_ ]___(1_1 3*

-sli-s)  Gosls7) G-

Bengali Version

e Ty w100 B-ce (Meont | v w iy em
S50 B g cdrm A T Bowee e T s 110
30 Rffes A groa o | TR e AW A

(A) e 701 45 T, (B) e 801 26 @

(C) wmm K01 56 2, (D) s 80140 M,

114. @i =@ *A’, 12 e dae B, 18 firs oo saTe “1ia |

dr wava wrelh om ava, farg wref crn wow 3 fiF
wiet ‘A" wTe cary sow um | A wel (B’ oo W
srrg e oo wre ww fim wera e
(A) B (B) 9
(C) 6 (D 3

(B35 i3-2) |
(C) % (m 1 }
116. 7*82, 839, 147* stsmofin 9 wran freren wrm, * fifers
ol wemTn T
(A) 2,3,5 (B) 4,2,8 Elk
(C) 0,9,2 (m 1,7.6 A

117. 2,3,5,7,11,13,17, 19, 23, 29, 31, 37, 41, 43, 47, 53,

59,61, 67, 71, 73, 79,83, 87, B9, 97 %= 26 1% wreie
(A) 7R cnfeeem

(B) ool 3 maaiy e

(C) 9% 7w 7=l o

(D) e =mor weaft® e

118, o= srrersras @ 2sfrwcas ererafa «ffn 80 of

TN (AW @ WVSTSTIA OFIREE SuehE 100
HfeAR | wnrereTm e ey om

5°s)

(A) 35 R, 5 of (B) 327M, 8 caf
(C) 30w, 10 &R (D) 284, 12 cof
1

e ch]
©) 103 (D) 1

(B) (7-001=5¥7-001+2{(7-001%-3x7-001 £
(D) (T-001-=-537-001=23{(7-001¥=3x7-001-6]

(Contd.)
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121. The medicinal forest be

! longing to Khasi-
in Meghalava is in o s
(&) Cherrapunji
(C) Shillong

(B) Moflong
(D) Haflong

122. Talking during eating may sometimes lead food
particles to enter into the windpipe. Thereisa flap-
shaped structure that prevenis food particles from
entering the windpipe and lungs. This flap like
structure is called

(A) Tonguoe
(C) Pharynx

(B) Epiglottis
(D) Glouis

123, 5.1. system of units has
(A) three base units and one supplementary unit.
(B} five base units and one supplementary unit.
(C) seven base units and two supplementary units.
(D) seven base units and seven supplementary units,

124. Shreya noticed that her mother’s nails have become
spoon-shaped. She is really worried. This condition

may result from:
(A) Cholera {B) Anaemia
(C) Fever (D) Malaria

125. Where we get maximum cotton of 1 kg by the help
of Spring Balance at
(A) Pole
(C) 45° Longitude

(B) 45° Latitude
(D) Equator

126. Which of the following is the valid reason for Solar
Eclipse?
(A) Earth between Sun and Moon
(B) Sun between Euarth and Moon
(C) Moon between Sun and Earth
(D) Inany condition no three are same line

127. Which metal remains liguid in room temperature?
{A) Sodium (B) Magnesium
(C) Mercury (D) Lithium

128. Which of the following diseases is caused due to the
poisoning of mercury present in soil?
(A) Itai-itai disease (B) Minamata disease
(C) Dyslexia (D) Albinism

32-YJE

Bengali Version

g o3 (e Bfgw R AOE
(B) EE -
(D) TEE-d

121, ceareTER 4
(A) GRIiETE
(C) Fm-g

123. S. . sgfErs a3 T
(A) foafd 3 g7 G g AL

(B) “Inf I 49 gar gl FEHE G |
(C) =refd g 4% 4% o O 4T
(D) e s 4 20 wref FEE 4T

S |

124. Hﬂmmmwmﬂﬂﬁ‘rmrﬁqiﬁ?w
oore | o Bt fofge | % T F coTE TE ATAL

(A) T (B) e
(C) == (D} s

125, Tt U ATETCG G 1 R e R SN WL

(A) GRITE (B) 45° =™

(C) 45° mfesn (D) fFrgacaem
126, ¥ trarer we car f Fem w

(A) wfeE e 7 6 B TR |

(B) 7 wm b 6 ffedE WA |

(C) Bm < opl e offedim TR

(D) W wagn (el ok a4

127, wTER AN T TS (A W
(B) TR

(D) i

128, T o e sl Bt e ffa cor®

mr
(A) TR OR @ (B) Tawmaf canst
(C) femmmmifarm (D) =yfafE

(Contd.)
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130. Enzymes are secreted from different glands of the
digestive system to aid in the digestion of food. Which
of the following enzymes is secreted by the intestinal

gland?
(A) Erepsin (B) Chymotrypsin
(C) Pryalin (D) Pepsin

131. Which of the following would you cite as an example
of ex-situ conservation being a teacher of

Environmental Studies?
(A) Zoo (B) National Park
(C) Sanctuary (D) Biosphere Reserve

132. What is most desirable way to control soil pollution
and as well as maintain fertility?
(A) Application of Chemical fertilizer
(B) To keep land fallow for a few years
(C) To apply compost and organic manure
(D) ‘Thum' cultivation where ashes from trees make
the soil very fertile

133, Galaxy is actually
(A) the ransitional day between Krishnapaksha and
Shuklapaksha.
(B) the seasonal boundaries.
{C) the effects of rotation.

(D) an assembly of a lot of star-worlds including solar
system.

134, Chandraketugarh (now ruins) was formed on
(A} the Ichamati basin
(B} the Churni basin
(C) the Jalongi basin
(D) the Bidyadhari basin
135. Why did Afsana Khatoon receive the presidential
felicitations on May 14, 20097
(A) She discarded her own child/juvenile marriage by
protesting publicly.
(B) She protested against unlawful child labour.
(C) She saved a juvenile girl from being attacked by
goons,
(D) She got a sexual molester arrested by the police,
136. One of the diseases caused g ue to air-pollution is
] (A) Silicosis (B) Minamatg
(€) Blackfoot (D) Encephalitis

J33-YJE

SECTION—V

Environmental Science
English Version Bengali Version
129, The distance between Earth and Moon is about 129, #ffeed ceras S gay o
(A) three lakh kilometer (A) fos = Rt
(B) four lakh kilometer (B) 51 =1 Rt
(C) five lakh kilometer (C) s 7 frefitrz
(D) six lakh kilometer (D) =0 7 RemfnmE

. oforE = T oAfRe orew e afg e
o ;Eﬂwﬁwi'ﬂlﬁ!ﬁlﬁ%!ﬁﬁtﬂmﬂmﬁ“ﬂ

TR mEE e
(A) 2fasifFm (B) =Rmh=f=
(C) Braffem (D) coAeifm
131, wiferamfamm s/ ffie fare wref fefeafe cml
oG Aewres Twead foen omaa e
(A) PBfem=m (B) =¥ W=
(C) w=uR (D) =t ferd

132, ftem Sdromie zomm wrere a3 afest e Fed =
GEiAis Ffas @ ¢
(A) i A sfos
(B) =% 1 93 v wFrere cone e st T
k]
(C) FT=pS @ 053 #iE I=259
(D) ez Tl b +ffers o w2 Bestn o v R
#0n B gf (s vm)
133, B efFEers
(A) T @ uFrwa Htal Pk om
(B) =M wyz Fit fioi =z
(C) “ffez Wz wemmn foindst ara |
(D) FlEwe @3t woe e TETI REE i
=3

134, vErEpneR (6 i) wiie s Brifem
(A) Tewél wfts weafiem
(B) 5t i e
(C) = wifte iy
(D) R 3Bz weafany

135. S 4rgw 2000 Hiem 14% 3 CF TS A e aReifen

wTEW (AT o

(A) e 2mfa firs Ce aaferem ofoam ar |

(B) fFmufiamm ST 6 IR v sfea
arafermw

(C) o et raferen wemmers 2re Cir ivrmfarem |

(D) 9% @fisead afers AT «fim Frefiem

136. 37 ¥R 7B w2 ot

(A) FifFmfm
(C) AT

(B) Tmraist
(D) S are=Ehy

(Contd.)
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137. Which salt is used in Mid-day Meal?
(A) NaCl (B) KCl ~

(€) MgCl, (D) CaCl,

138, Soil w :
Soil washed away by running water is called

(A) R:Egn\ith (B) Soil profile
(C) Eluviation (D) Muviation

139. As a teacher of Environmental Studies, which of the
following physiological processes would you cite as
an example of catabolism?

(A) Respiration (B) Nutrition
(Cy Photosynthesis (D) Growth

140, Given other circumstances constant, the relation
between the level of underground water and rainfall
is
(A) simplefregular
(C) proportionate

(B) opposite
(D) inversely related

’  141. The disorder of eye in which distant objects appear
(’ blurry but near vision is normal, is called

- (A) Myopia (B} Hypermetropia
y'/ (C) Cataract (D} Preshyopia

142. Jan 26, 1950 is celebrated as the Republic Day
because on that day
(A) India got her freedom as a separate country.
(B) India and Pakistan were treated as two separaie
countrics.
(C) Indian Constitution was granted as the country’s
own law syslem. .
(D) Jawaharlal Nehru became the first Prime Minister
of India.

143. Among the following which one is the best conductor

of electricity?
(A) Ag (B) Au
(C) Zn (D) Cu

144. One liquid non-metal is
(A) Mercury
(C) Carbon

(B) Bromin¢
(D) Sulphur
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145, Different parts of plants are used to prepare
medicines. As for example, reserpine is used to
reduce high blood pressure. Reserpine is obtained
from the roots of which of the following plants?

(A) Datura (B) Tobacco
(C) Rauvolfia (D) Coffee

146. The river Ganga is known as river Hugli at
(A) the confluence of Damodar and Bhagirathi.
(B) the confluence of Rupnarayan and Bhagirathi.
(C) the confluence of Haldi and Bhagirathi.
(D} the confluence of Ajay and Bhagirathi.

147. As a teacher of Environmental Studies, you have
shown the pictures of the following animals to your
students. In the list, which of the following animals

i not an invertebrate?
(A) Sycon
(C) Cuttle fish

(B) Jellyfish
(D) Shark

148. Rita taught her students about tuberculosis. The
causal organism of this disease enters the human
body through lungs. Which of the following is the
causal organism of tuberculosis?

(A) Salmonella (B) Mycobacterium
(C) Fungi (D) Clostridiiim

149. It takes more time to cook meals on a hill station.
The reason is due to

(A) less humidity

(B) low pressure

(C) cooking is difficult at high altitude

(D) low temperature

150, Why on hills than on plain tennis balls bounce
higher?
(A) Less weight of the ball
(B) Nature of surface not plane
(C) Less gravitational pull
(D) Atmospheric state changes continuously

145,
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